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I Explaining last clause of 'a mwn: if all of these procedures weren’t followed — no liability for entering there nxnyva
a  Dispute /810 1 if it reads “158 931”7 (0”1 — need all of these) or "9R Y0 NNRa” (3”1 — any of these is sufficient
i Explanation: n™ - original nwy1p is permanent, X1y’s procedure wasn’t effective
1 And: 3" - 579 nwTp RY NWRY NP and RI1Y's procedure was a real VTP
it Support (for 777): 91RW R1aR’s report about the two marshes on nn’tn 90 — not really v17p, included to protect city
iii  Suggestion: NNWRY NWITP is a dispute — »"1/8™ about traditions they heard about wpn
1 Rejection: perhaps they both hold 995 nwTp NWRY NVITP and each is reporting what they heard
iv  Rather: it is a dispute in two versions of Y01’ 92 YRynw’ "y about re-sanctifying or identifying cities in »R (v. 1)
1 Or:opinion that it was always w1Tp is "o 7”2 R™-v. 2
II 7> mwn: time parameter for liability for wTpna nrmv:
a  If: he became xnv while in the N1y and he forgot either nkmv or v1pn (or both)...
i Source: X" —vv.3-4 generates redundancy — applies to one who becomes xnv while in n9ry
1 Challenge: needed to teach that there is liability both for 1291 (anointed by n”yn) and w1pn (permanent place)
2 Answer: from vv. 5-7, we know that the terms are interchangeable; vv. 3-4 should be consistent (v7pn or 12vn)
b And: he prostrated there or delayed the amount of time it takes to prostrate [hable]
i A&37(versionl): only if he bowed towards inside (west); if he bowed “away”, time-factor is used
ii ~ N27(version2): delay only necessary if he bowed “out”; if he bowed “in”, liable immediately
iii Note: bowing “long enough” includes prostration; without is nxnnnwn Nyw
1 7w time it takes to say all of v. 8 (or from 115" until end)
iv  Associated: n'mp means falling on face (v. 9); ny3 is on knees (v. 10); nknwnnwn is prostration (v. 11)
v Four tangential questions: whether n»nw is a factor...
1 ~a7 giving man (7ma) [ie. is all wTpn kMY the same] or only for 127p? ¥p'n
2 Karif he is suspended over the Nty or does he need to be “bowable”? p'n
3w~ 7. if he intentionally was Xnon himself or does it only appy to mw? 1jp’n
4 oww -’y for a mata grave [does it only apply p291] or not? ypon
¢ or: he took the longer egress — liable;, but if he took the shortest route out — 7108
~27 if he took the shortest way, even if he walked “heel to toe” and took all day — exempt
1 Question (¥37): do mini-delays add up?
(a) Challenge; why not answer from his own “heel-to-toe” ruling?
(b) Answer: in that case, he didn’t delay, just walked very slowly and deliberately
2 Question (7370 »a8): what if he went out the long way as quickly as the shorter way would have taken?
(a) Answer: the longer way is never accessible to him
Challenge (871 7): how could a wn'ww ®nv be liable for nmw »1a nnon; he is, ipso facto, N33 27N for being in n»nw »1
1 Point: if we accept that there is a time-frame within which to get out, perhaps he ran out the short way
2 But if he must always go directly out and there is no allowance for n»nw, how could he do nmay?
3 Answer (»aX): he could have flipped over some meat on the n37yn (nT1ay as per k11 ") on his way out
(a) Note: 810 '7's ruling must be a case where it burned quicker after flipping (if it didn’t accomplish any-
thing - why consider it nmay; if it wasn’t burning otherwise, nv'wa that it is nmay)=> nmays nmay »anp
iii  awwn 7. suggested that if someone walks into y»n n»a backwards — v, per v. 12 (but if all in, like 093 - v. 13)
1 support: if someone enters N1y via roofs, M09, per v. 14 — must be nR>2 717 (cf. V1 N"R21 5NN 3”5 & NN ad loc.)
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